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! 3 .
L Given g(x) =2+3cos ['é‘(x + 1)], which of the following statements is

@me?

a)  The amplitude of g(x) is 3.

The period of g(x) is 8.

c¢)  The phase shift is-1.

d)  The vertical shift is 2.

2 Which of the following functions has both an amplitude of 2 and a period of
4m?

a) y= 2008[‘}(x + 0)] b) y= 23in[4(x T TT)]

@ y= _3'2'[5“1[%(76_“):] d) y=2+sec|i%(x—4n)]




3.  Which of the following would be the sketch of a sound wave has a period of
0.14 seconds and an amplitude of 4 units?
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4. The depth of water at a dock is determined by tidal flow, which follows a
sinusoidal pattern. Six hours after you start timing, you notice that you have
reached high tide, where the water is 26 feet deep. 8 hours later, you see that the
tides have hit their lowest point, and the water is 6 feet deep. What is the
amplitude of the variation?

(@) 20 (b) 13 ©)) 10

d 8 ) 6

5. Which of the following is NOT an equation for this graph

s Twr

=T w 29T 3+

: 1 1
@_] y=-3+ 2008[‘2—()6 - 211)] b) y=-3+ ZSin[E(x + ﬂ)]

1 1
c) y=-3- 25in[5(x - ‘IT)] d y=-3- 2cos[5(x - ZK)]
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Round all answers to 3 decimals

T
6.  Sketchonecycleof y=—-2+ 4Sin[z(x - 1)]




T
8.  Sketchonecycleof y=1- ZCOS[Z(x - 3)]

9. Find a sine equation for this graph:
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10. If f (x) =2 - 5COS[_Z—(X - 2) ], find the first three negative values of x
where f(x)= -1.3.
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11. Solano County is also a leader in the California for solar production. The
average daily incident shortwave solar energy (as measured in per square meter of
ground) varies sinusoidal with time variation over the course of the year. The
average solar energy is at a maximum of 8.5 kWWh on June 26 (t=177). A
minimum of 2.1 kWh is reached on December 26 (¢ =360).

a. Sketch the graph of this sinusoidal function.

b. Write the particular equation expressing the daily average solar energy.

5 What is the daily average solar energy on ¢ =17? How about on ¢ =200?

d.  Find is the two dates during the year that the daily average solar energy is
7.2 kWh.
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